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Question Number : 1 Question Id : 327167451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following sentences are divided in three parts: One of the parts may have an error.
Identify it.

(1) Have you finished./ (2) the work that./ (3) 1 have given to you?

Options:
1 *® (1)

o W (2}
i (3)

4 % No error

Question Number : 2 Question Id : 327167452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The following sentences are divided in three parts: one of the parts may have an error.
Identify it.

(1) The value of rupee./ (2) declines as the rate./ (3) of inflation raises.

Options:
1 & (1)

o W (2}

= o (3}

4 % No error

Question Number : 3 Question Id : 327167453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The following sentences are divided in three parts: One of the parts may have an error.
Identify it.

(1) He is wanting to give./ (2) Rahul a book./ (3) on his birthday.
Options:

1.+ (1)

o W (2}



T (3)

4 % Noerror

Question Number : 4 Question Id : 327167454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The following sentences are divided in three parts: One of the parts may have an error.
Identify it.

(1) Unless he doesn’t walk fast./ (2) he cannot reach./ (3) the station in time.

Options:
1 (1)

o W (2}
T W (3)

4 % No error

Question Number : 5 Question Id : 327167455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following sentences are divided in three parts: One of the parts may have an error.
Identify it.

(1) This newspaper has./ (2) a larger circulation./ (3) from any other morning paper.

Options:
1 #® (1}

o W (2}
i d (3)

4 % No error

Question Number : 6 Question Id : 327167456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following sentences are divided in three parts: One of the parts may have an error.
Identify it.

(1) If somebody calls./ (2) please ask him./ (3) to wait.

Options:



1 #® (1)
o W (2}
o W (3)

4 « No error

Question Number : 7 Question Id : 327167457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following sentences are divided in three parts: One of the parts may have an error.
Identify it.

(1) One of my friends./ (2) have a house./ (3) in the hills.

Options:
1 ® (1)

T W (3)

4 % No error

Question Number : 8 Question Id : 327167458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The following sentences are divided in three parts: One of the parts may have an error.
Identify it.

(1) I hopes./ (2) he will be./ (3) in time.
Options:
1 (1)

o W (2}
T W (3)

4 % No error

Question Number : 9 Question Id : 327167459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The pilot was warned the risk he was taking.
Options:
1 % for

> o of

5 % on

4 W to

Question Number : 10 Question Id : 327167460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
He is not the man to allow anyone to encroach his rights.

Options:
1 #® in

- u for

5 % on

4  upon

Question Number : 11 Question Id : 327167461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Payment of this invoice should be made thirty days.
Options:

1« within

> % until
T W b}

4 % upto

Question Number : 12 Question Id : 327167462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The house is large enough for the entire family in.
Options:

, w living



- o tolive
5 % having lived

4 % tobeliving

Question Number : 13 Question Id : 327167463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
We watched the team very good football at the stadium yesterday.

Options:
, % toplay

- % tobeplaying

5  playing

, % have been playing

Question Number : 14 Question Id : 327167464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
She looked as if she a ghost.

Options:
1 # saw

> « had seen
5 % would see

4 % would have seen

Question Number : 15 Question Id : 327167465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
the timely medical attention the patient would have died.

Options:

, % Inspite of

> % DBecause of

z « But for



4 % Even after

Question Number : 16 Question Id : 327167466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mr. Rao sold all his gadgets and furniture he left for Australia.

Options:
1 % after

> % until

3 « before

4 % @ssooMm as

Question Number : 17 Question Id : 327167467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Are you looking for anything in ?
Options:

, % Ppeculiar

> % special
= % detail

4 « Dparticular

Question Number : 18 Question Id : 327167468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The dress and the hair style completely her appearance.

Options:
1 % amended

> « altered

- % adapted

, % adjusted

Question Number : 19 Question Id : 327167469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Iwasvery  to hear that the party was cancelled.
Options:

1 % deceived

- % disillusioned

- % disabused

4 « disappointed

Question Number : 20 Question Id : 327167470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a time of fiscal crisis, such a expenditure of public funds needs to be
Options:

| % Dbroper ------ vindicated

> % judicious ------ condemned

- w righteous ------ criticised

4 « lavish ---------- justified

Question Number : 21 Question Id : 327167471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Because he had a limited time for his examinations, Raghav decided to read the

novel. War and Peace, in edition.
Options:
; % wordy ---—-- an unedited
o  lengthy ------- an abridged
- % famous -------- a modern
, % popular -------- a complete

Question Number : 22 Question Id : 327167472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the following questions. select the response which fits the situation.

You are going to fail your exams.



Options:
1 % It’s the same.

- « ldon't care.
% % I'm not in the mind at all.

, % It makes nothing.

Question Number : 23 Question Id : 327167473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following questions. select the response which fits the situation.
I've got a cold.

Options:

1 « Oh dear!

> % My dear!

- » lregretit!

4 % Blessyou!

Question Number : 24 Question Id : 327167474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the following questions. select the response which fits the situation.

There is no food in the house.
Options:
1 % It doesn’t care.

> % It doesn’t worry.
5 % It doesn’t make anything.

4 « It doesn’t matter.

Question Number : 25 Question Id : 327167475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the following questions. select the response which fits the situation.

When is it going to stop raining? I wish
Options:



1 % Iknow!
> o I knew!

- % It stopped!

4 % Tostopit!

Question Number : 26 Question Id : 327167476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the pair from the options that best expresses the relationship similar to the given
pair.

Shrug : indifference :: ?

Options:

1 + Nod : assent

> % Blink : scorn
=z % Scowl : desire

4 % Wave: fatigue

Question Number : 27 Question Id : 327167477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the pair from the options that best expresses the relationship similar to the given
pair.

Museum : exhibit :; 2

Options:
, % Sculptor : statue

> % Prison : cell

5 % Painting : frame

4 Theatre : performance

Question Number : 28 Question Id : 327167478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Select the pair from the options that best expresses the relationship similar to the given
pair.

Pea :pod:: ?
Options:
1 % Bean: crock

- % Pumpkin : stem

2 « Nut: shell

4 % DPotato : stew

Question Number : 29 Question Id : 327167479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the pair from the options that best expresses the relationship similar to the given
pair.
Gigantic : Lilliputian :: ?
Options:
, % Oceanic : Aquatic

> « Obese : Emaciated

5 x Disastrous : Ingenious

4 % Powerful : Wicked

Question Number : 30 Question Id : 327167480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the one word which can substitute for the group of words or sentence.

A person who undergoes training in any trade or occupation.
Options:
1 #% acandidate

> % afellow

5  anapprentice

4 % an examinee



Question Number : 31 Question Id : 327167481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the one word which can substitute for the group of words or sentence.

Yearly return of the date of an event.

Options:
1 % centenary

.  anniversary
5 % annuity

, % Dbirthday

Question Number : 32 Question Id : 327167482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the one word which can substitute for the group of words or sentence.

A place for keeping aeroplanes.
Options:
, « hangar

- % airport
= % harbour

4 % depot

Question Number : 33 Question Id : 327167483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the one word which can substitute for the group of words or sentence.

Something which cannot be seen through.
Options:

, w transparent

> % translucent

=  Opaque

4 % solid



Question Number : 34 Question Id : 327167484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the one word which can substitute for the underlined word.

Dr. Radhakrishnan was completely engrossed in his work.
Options:
1 % disturbed

> « absorbed

- u fatigued

4 % successful

Question Number : 35 Question Id : 327167485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the one word which can substitute for the underlined word.

Your disheveled appearance will hurt your chances in this interview.
Options:
= ugly

> % unnerved

5 o untidy

4 % unenthusiastic

Question Number : 36 Question Id : 327167486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the one word which can substitute for the underlined word.

From the doctor’s grim expression. I could make out that he had sombre news.

Options:

, % hopeful

- % confusing

- % fortunate

4  depressing



Question Number : 37 Question Id : 327167487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following question choose the word which best expresses the meaning of the
underlined word in the given sentence.

The custom authorities have confiscated a large consignment of drugs.
Options:
1 « seized

- % concealed
5 % destroyed

4 % released

Question Number : 38 Question Id : 327167488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For each key word are given four suggested meanings. Choose the word or phrase which i1s
most nearly the same to the keyword.

Industrious: ?

Options:
1 % reserved

> % clever
- « hard working

, % intelligent

Question Number : 39 Question Id : 327167489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For each key word are given four suggested meanings. Choose the word or phrase which i1s
most nearly the same to the keyword.

Colossus: ?
Options:
1 % ftall

o  huge

5 % lofty



, % towering

Question Number : 40 Question Id : 327167490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For each key word are given four suggested meanings. Choose the word or phrase which is
most nearly the same to the keyword.

Defer: ?
Options:
| % respect

- % disguise

=  DPostpone

4 % dislike

Question Number : 41 Question Id : 327167491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For each key word are given four suggested meanings. Choose the word or phrase which is
most nearly the same to the keyword.

Endorsement: ?
Options:
, % Imposition

> % endurance
=z % award

4 « approval

Question Number : 42 Question Id : 327167492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the word which is opposite in meaning to the keyword.

Scanty: ?
Options:
, % DPathetic

> % deficient



= % restricted

4  adequate

Question Number : 43 Question Id : 327167493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the word which is opposite in meaning to the keyword.

Authentic: ?
Options:
, % original

>  Spurious

= % real

4 % genuine

Question Number : 44 Question Id : 327167494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the word which is opposite in meaning to the keyword.

Nebulous: ?
Options:
| % starry

> o Clear

5 % porous

4 % fundamental

Question Number : 45 Question Id : 327167495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the word which is opposite in meaning to the keyword.

Corroborate: ?
Options:
1 #% establish

> % substantiate



= « contradict

4 % confirm

Question Number : 46 Question Id : 327167496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following questions choose the correctly spelt word.

Options:
1 % oudiance

> o audience
= % oudience

4 % audiance

Question Number : 47 Question Id : 327167497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following questions choose the correctly spelt word.

Options:

, w daignosis

- % diagnosiz
5  diagnosis

, % diagnosez

Question Number : 48 Question Id : 327167498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following questions choose the correctly spelt word.

Options:
1« Anonymous

o % ananymous

% % anonimous

4 % AnoIymus



Question Number : 49 Question Id : 327167499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following questions choose the correctly spelt word.

Options:

, » louttery

> % loftary
- % lotery

4  loftery

Question Number : 50 Question Id : 327167500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the following questions choose the correctly spelt word.

Options:
, w disiplined

-  disciplined
- » desiplined

, % diciplined

Question Id : 327167501 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 62)
Juestion Label | Comprehension

Speech is a great blessing but it can be a great curse for, while it helps us to make
(1) intentions and desires known to others, (2) can also. if
we use it (3) make our attitude completely misunderstood. A (4)
of the tongue, the use of (5) unusual word. or an ambiguous word,

(6) so on, may create an enemy (7) we had hoped to win a -

(8). Again, different classes of people use (9) words and the

ordinary speech of (10) educated man may strike an uneducated
(11) as showing pride. Unwittingly we may (12) a word which bears a
different meaning to our listener from what it means to us.

Sub questions

Question Number : 51 Question Id : 327167502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (1) by choosing the best option.



Options:
1 % their

5 ' our
z % ours

4 % US

Question Number : 52 Question Id : 327167503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (2) by choosing the best option.

Options:
1 it

- % he
5 ® We

4 % this

Question Number : 53 Question Id : 327167504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (3) by choosing the best option.

Options:
. w» hopelessly

- x carefully
-  carelessly

4 % unwittingly

Question Number : 54 Question Id : 327167505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Read the passages and fill in the blanks of (4) by choosing the best option.

Options:
1 % twist

o % tip



= % lick

4  SIp

Question Number : 55 Question Id : 327167506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Read the passages and fill in the blanks of (5) by choosing the best option.

Options:
1 % a
o ¢ an

z % the

4 % one

Question Number : 56 Question Id : 327167507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks by (6) choosing the best option.

Options:
1 « and

5 % as
5 % etc.

4 ® Or

Question Number : 57 Question Id : 327167508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (7) by choosing the best option.

Options:
1 % until
o W if

= « Wwhere

4 % but

Question Number : 58 Question Id : 327167509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (8) by choosing the best option.

Options:
1 ® person

> « friend
= % relation

4 % collegue

Question Number : 59 Question Id : 327167510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (9) by choosing the best option.

Options:
1 % separate

> % others

% % various

4 « different

Question Number : 60 Question Id : 327167511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (10) by choosing the best option.

Options:
1 # one

> % the

o w0 dll

4 % any

Question Number : 61 Question Id : 327167512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Read the passages and fill in the blanks of (11) by choosing the best option.

Options:
, » beople



> % colleague

3 o listener

4 % Viewer

Question Number : 62 Question Id : 327167513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the passages and fill in the blanks of (12) by choosing the best option.

Options:
1 « use
- % Speak

5 % listen

4 % understand

Question Number : 63 Question Id : 327167514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who will the children when their mother is in the hospital?

Options:
1 « look after

- % look for
s % lookup

4 % look about

Question Number : 64 Question Id : 327167515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
This photo clearly the difference between the two brothers.

Options:
, % Dbrings about
-  brings out

5 % bringsup



, % bringsin

Question Number : 65 Question Id : 327167516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Have you heard the latest? The increase in car prices is

Options:
1 « on the cards

-~ % onthe carpet

= % on the call

4 % onthe bottle

Question Number : 66 Question Id : 327167517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
This is strictly but you are going to be transferred.

Options:
1 % off the mark

- x off the key

5 % off the rails

4 « off the record

Question Number : 67 Question Id : 327167518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Travellers in advance if they want to fly during winter holidays.

Options:
, % Dbetter had got done their reservation

> % had got done their reservation better
« their reservation had got done better

=

4 « Dhad better got their reservation done

Question Number : 68 Question Id : 327167519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
To answer accurately is

Options:
. w more quickly than important finishing.

- % important more than finishing quickly.
-  mmore important than finishing quickly.

, % Hfnishing quickly than more important.

Question Number : 69 Question Id : 327167520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An aeroplane

Options:
, w faster moves than a ship.

- % moves than a ship faster.
- % than a ship moves faster.

4 « moves faster than a ship.

Question Number : 70 Question Id : 327167521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

I don’t like

Options:

, « children who pluck flowers from the garden.

- % flowers who children pluck from the garden .

- » the garden who children pluck flowers from.

4, % Cchildren who from the garden pluck flowers.

Question Id : 327167522 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (71 to 80)
Cesticn Label | Comprehension



Read the following passage and answer the questions given below if.

Some people imagine that English is likely to become the lingua franca of India. That
seems to me a fantastic conception, except in respect of a handful of upper-class
intelligentsia. It has no relation to the problem of mass education and culture. It may be. as
it is partly today. that English will become increasingly a language used for technical,
scientific and business communications. and specially for international contacts. It is
essential for many of us to know foreign language in order to keep in touch with world
thought and activities, and I should like our universities to encourage the learning of other
languages besides English — French. German. Russian. Spanish, Italian. This does not
mean that English should be neglected, but if we are to have a balanced view of the world
we must not confine ourselves to English spectacles. We have already become sufficiently
lopsided in our mental outlook because of this concentration on one aspect and ideology.
and even the most rabid of our nationalists hardly realize how much they are cribbed and
confined by the British outlook in relation to India.
But however much we encourage the other foreign languages. English is bound to remain
our chief link with the outside word. That is as should be. For generations past we have
been trying to learn English and we have achieved a fair measure of success in the
endeavour. It would be folly to wipe the slate clean now and not to take full advantage of
this long training. English is also today undoubtedly the most widespread and important
world language, and it is gaining fast on the other languages. It is likely to become more
and more the medium of international intercourse and radio broadcasting. Therefore we
must continue to spread the knowledge of English. It is desirable to learn it as well as
possible but it does not seem to me worthwhile for us to spend too much time and energy
in appreciating the finer points of the language. Individuals may do that, but for large
numbers it will be a needless burden on them and will prevent them from progressing in
other directions.
Sub questions

Question Number : 71 Question Id : 327167523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The author is of the opinion that:

Options:

, w English is the best language in the world.

- % English is the only language for international contacts.
- % English will become the lingua franca of India.

4 « English will never become the lingua franca of India.

Question Number : 72 Question Id : 327167524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“except in respect of a handful of upper-class intelligentsia.” People who belong to
intelligentsia are people who are:



Options:
1 % sensitive

- % hard-working
3 o learned

4 % noble

Question Number : 73 Question Id : 327167525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The author thinks that English will be confined to the upper class only because:
Options:

, % theupper class is more intelligent.

- % ofthe difficulty of learning it by common people.

5 % it is required only for some specific purposes.

4 « it has no bearing over the common culture.

Question Number : 74 Question Id : 327167526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

It is possible that in India in future English:
Options:

, « Will be used for specific purposes.

> % will not be used at all.

- » Will become a language of common people.

4 % Will not be taught in the universities.

Question Number : 75 Question Id : 327167527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The author supports the idea of teaching of;
Options:

, w only English at Indian universities.



- « Other languages besides English.

- % all other languages but English.

, % English and American both.

Question Number : 76 Question Id : 327167528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A rabid nationalist is one who:
Options:

, % criticises the government.

-  Very strongly supports nationalism.
- x fights for his country.

4, % strongly opposes the nationalism.

Question Number : 77 Question Id : 327167529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“We must not confine ourselves to English spectacles.” means that:

Options:

, % Wwe should wear our home-made spectacles and not the imported ones.

-~ % We should not think that English is the only language in the world.
- « We should not look at the world from the point of view of an Englishman.

4 % we should come out of our shells and look at the wide world.

Question Number : 78 Question Id : 327167530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“How much they are cribbed and confined”. Cribbed are those who are:

Options:
|« injail

> % conservative

3 « restricted



, % ignorant

Question Number : 79 Question Id : 327167531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the author our efforts to learn English over the past years have:

Options:
.« Dbeen fairly successful.

- % proved futile.

- % achieved little success.

, » failed only.

Question Number : 80 Question Id : 327167532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
From what 1s given in the passage we can infer that:

Options:
, % We should spend as much energy as possible to learn English.

- » Languages like French and Italian are gaining grounds over English.
-  English is the most important language of international communication.

4 % We should learn and appreciate the finer points of English language.

Question Number : 81 Question Id : 327167533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative which resembles the original sentence in meaning.

My brother and I don’t like coffee.
Options:
, % My brother and I neither like coffee.

- % Either I or my brother like coffee.

- % My brother neither likes coffee nor L.

4 « Neither my brother nor I like coffee.



Question Number : 82 Question Id : 327167534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative which resembles the original sentence in meaning.

The knife is new but it is not sharp.
Options:
. + The knife is not sharp though it is new.

> % The knife is new therefore it is not sharp.

- % Ihe knife is not new so it is sharp.

, % The knife is new because it is not sharp.

Question Number : 83 Question Id : 327167535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the alternative which resembles the original sentence in meaning.

The horse is too weak to run.
Options:
, % Thehorse is very weak to run.

- % The horse is very weak so it can run.

= « The horse i1s so weak that it cannot run.

4 % The horse cannot run so it is weak.

Question Number : 84 Question Id : 327167536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative which resembles the original sentence in meaning.

She must run faster or she will not win the first prize.
Options:
, « She must run faster to win the first prize.

- % In spite of running faster she will not win the first prize.

5 » Because of running faster she will not win the first prize.



, % Due to running faster she will not win the first prize.

Question Number : 85 Question Id : 327167537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following words takes the prefix ‘-de’?

Options:
, w interpret

- « 1mobilize

- % loyal

, % approve

Question Number : 86 Question Id : 327167538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following words takes the suffix ‘-ance’?

Options:
| w agree
- % arrival

5 o attend

4 % avert

Question Number : 87 Question Id : 327167539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following words does not take the suffix ‘less’?

Options:
1 % doubt

> o truth

- % help

4 % sleep

Question Number : 88 Question Id : 327167540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following words does not take the prefix ‘extra’?

Options:
, w ordinary

- % marital
; % Vagant

4 « SONiC

Question Number : 89 Question Id : 327167541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the one which makes the most accurate ‘reported version’.

Mother said to me .” You are a good girl™.
Mother told me that, “?”

Options:
, % sheisa good girl.

> ®% Youwere a good girl
5  lama good girl.

, % shewas a good girl.

Question Number : 90 Question Id : 327167542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the one which makes the most accurate ‘reported version’.

Mr. Verma said to Mr. Kapoor, “Do you live in Mumbai™?
Mr. Verma asked Mr. Kapoor, 2?7

Options:
1 #% did he live in Mumbai.
> % he lived in Mumbai.

- % that he lived in Mumbeai.

4 « if he lived in Mumbai.

Question Number : 91 Question Id : 327167543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Select the one which makes the most accurate ‘reported version’.

The policeman said to the thief. “Tell me the truth™.
The policeman asked the thief, “7”

Options:
1 % told him the truth.

> « to tell him the truth.
z % tell me the truth.

4 % if he told him the truth.

Question Number : 92 Question Id : 327167544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the one which makes the most accurate ‘reported version’.

Father said to Rahul. “Don’t waste time".
Father told Rahul. “?”

Options:
1 % that don’t waste time.

- % don’t waste time.
5 « not to waste time.

, % Youdon’twaste time.

Question Number : 93 Question Id : 327167545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the correct passive voice of the sentence given in the question.

Will the manager give you a ticket?
Options:
, % Were you given a ticket by the manager?

>  Will you be given a ticket by the manager?
% Let a ticket be given you by the manager.

=

4 % Was aticket given you by the manager?



Question Number : 94 Question Id : 327167546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the correct passive voice of the sentence given in the question.

Who taught you Mathematics?
Options:

. % Whom were you taught by Mathematics?

> % Who by you were taught Mathematics?
= « Who were you taught Mathematics by?

, % By who was Mathematics taught you?

Question Number : 95 Question Id : 327167547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the correct passive voice of the sentence given in the question.

The mason is building the wall.
Options:

, % Thewall is building by the mason.

- « The wall is being built by the mason.

- % The wall was built by the mason.

4, % The wall had been built by the mason.

Question Number : 96 Question Id : 327167548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the correct passive voice of the sentence given in the question.

Why did your brother write such a letter?
Options:
, % Why is such a letter written by your brother?

- % Why was such a letter being written by your brother?

5 % Why has your brother written by such a letter?

4 « Why was such a letter written by your brother?



Question Number : 97 Question Id : 327167549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following sentences an idiom has been used. From the given alternatives find out the
appropriate meaning of the underlined idiom.

It may seem difficult but you will get the hang of it after a few days.
Options:
, % Iy tochange

> % trytoignore
-  begin to understand

4 % follow the same rule

Question Number : 98 Question Id : 327167550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following sentences an idiom has been used. From the given alternatives find out the
appropriate meaning of the underlined idiom.

The Head always has to have a whipping boy to protect himself.
Options:

, w someone who is loyal to the master

> % someone who is used for thrashing others
- » someone bold enough to stand for himself

4 « someone who can be punished for other’s faults

Question Number : 99 Question Id : 327167551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In each of the following sentences an idiom has been used. From the given alternatives
find out the appropriate meaning of the underlined idiom.

The car hit by a truck coming from the opposite side turned turtle.
Options:
, « tumned upside down



- % got badly damaged
- % Wwas totally destroyed

4 % killed someone

Question Number : 100 Question Id : 327167552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following sentences an idiom has been used. From the given alternatives find out the
appropriate meaning of the underlined idiom.

Some people are quite good at blowing their own trumpet even when they don’t know
anything.

Options:
, % Playing music
-  praising themselves

- % making noise

, % entertaining others



